CYMH OJI CTEIIEHA HA HEKOM HW3N OJ BPOEBU
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3a 6pOjHR HE3HM OI BUAOT Un==pln 4 — qlin—y CC JABRAT PEJIALIAA, KOH C€ OMHECYBAaT
3a XOHEYHH CYMH OJI HUBHHTE CTEIICHH.

1. Veoa. Bo TeopmjaTa Ha PEKYP3MBHHTE HH3M OJ BTOp peld, IBE OC-
HOBHHU HEH3HK ce Ha Fibonacci (F,) u Ha Lucas (L,) onpenenenu co F=F, -+
Fyp oun Fo=0, Fij=1, omaocio co L, =L, 1+ L, o u Ly=2, L= 1.

KracauHETEe NpOmMMpYyBAalba HA OBHE HH3HM C€ ONpPEeleNICHM CO:
(Un) Un =PUM—1 —qUy,_s, Uy=0, U1= i,
(Va) Ve =PUp—1— qVp—s Vo =2, ¥V1=p,

kazne mTo A = p2—4g # 0.

TMocTojaT M ApYyrd npowHpyBama Ha Husure (F,) m (L,).

CeojctBata Ha mHM3aETe (U,) u (¥,) Ce H3Yy4YCHH BO OpOjHH TPYHAOBH
(11 [2], (3}

HanmoT uHTepec Be OBOj TPYA K¢ Omze na mapemMe HEKOH peJIaliHH,
KOH c€ ONHECYBA4AT 3a CYMHTE OX CTEIICHHTE Ha THE HH3H.

2. Cymu ox crememm ma mm3ara (U,). TlosHaTto e meka [1] -

k
], 13
(¢)) A Uk = 2, (— D" Cig™Wee—20n
r=0
KaJae mTo € '

Win = 17,,.,,, ako e kK mapen Spoj,
OIHOCHO

Win = Ugn, ako e k HenapeH 5poj
~ Vi, n# 0O
Vo = 1

Coopea Toa EMaMe

k
A" U¥F = Zo (— D" Cir g™ Vaok—rin -

OTTyKa ce moOHBa

& S U?: — 3 5 r Li snr—>Wk) 17
A Z — Z Z (— Dr Caoy g« Va¢—rysn
qsnk o

s=1 s=1 r=

&k »
= > (— 1) G 2 P Vay pyen.
s=1

1=0
ITopanu

@3] a7 Vingore = g% L n

Vintuk-
r=0 U, k

HAOrame

A* i U (— D*m C3, +kf.'1 (—Dr G (U""‘—" et Vie—nmn _
=4 qskn 2k o 2k q(k—r)mn U(k—r)n — %o
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Braejkn
3 Upgor =V Upyr —q'U,

3a cyMaTa oJ CTeneHHTe Ha Hm3arta (U,) ke mmame

m U2k U
@ Ak Z sm o __ (— 1) (m + - C2k + Z (—1)*—r Cf_r rn 2 +1) .

=1 qsnk qrmn Ur’n

OTTyRa JTeCHO ce Haora

n

U _ U,
k Y@2s—Dn_ — (1% " 1yE— K——r armn
) AR G e = DF mC + Z —DF 7 O e -

IMoceBSHO, ako e k = 1, oag (4) moSuBame

2
i t_{sn_ _ U(7m+l)n N, P 1,
=1 q&ﬂ qmﬂ U

a ox (5)

A% Uas—nn _ Usmn

= —2m.
=, q(2 —Dn q(Zm—l) n Uzn

3a cymMaTa O HenapHM cTeneHH, cmopex (1), ke mmame

k
AL UFH = Zo (— 1" Coxt19%? Usak—2r 4 1y ms
r—=

o Kaae mTo

m gkt m  k
r
Ax 3 Ry T Zl Zo (— 1) Cou1 =2+ D Usak—2r+ 1ysn =
s=1 s=1 r=

(6)

k m
— " 1Ye—r Ok (—2r) sn

r=0 s=1
TTopana (2) oxm (5) Haofame

= yktt Upn 2r 41 m+D Ugr+ 1ymn
Ak Z sk ED Z (—DF—r C2k+1 2r 4 1)
L gkt q" M et tyn

ITocedno axo k =1 pmoOmBame

A f: U;sn _ U3(m+1)n U3mn _3 U(m+1) n Umn .

S g gmn Uy, q™U,

3. Cymn ox crenenm na wmm3ara (7). 3a cremeHoT Ha V¥V, m3pa3eH
KaKo cymMa Of WIEHOBH Ha Hu3aTa (V,) UHH HHIEKCH Ce NOBEKEKPDATHH HAa N
uMame

. W2 -
©) V=2 Ciq™ V-
Cnopen Toa

sn = ZO C2k gren V2(k—7) sn .
=
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Ha ja oOpasyBame cymaTa

m 2k m k
Vsn

(8) .\él W - Z Z C;I:-r q—Ten f/ern ==

s=% r=0

= Z C Z g 7" Virsn.

s=1
ITopamu (2) moSusame

d Vin —r If(m+1)nr anr
genk’ =mChe + Z Caie gmnr U, . —2)-

3emajku npenpun (3) Haorame 3a cymaTa O CTemeHHMTe Ha Hm3arta (V)

s=1

(9) i V?r’;‘ — (m -+ L Ck ___zzk—l + 2.,’_“ Ck—r U(2m+l)nr ~
s==t qsnk N 2 2 r=1 o qi"M’n Urn

OTTyKa JIeCHO ce Haora

n

V(2s—t)n Fe k —r U4rm1l»
(10) Z | ges—bmE = Cor + rzzll c P\ ey —
TIocebuo, ako e k — 1 ke mmame ox (9)
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Vi - Uomy1yn
£ mam— s Sy

a ox (10) mobmmame

2
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2k41 &
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= 2%+ — e — 2%k,
=0 g0y yn
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IToceSHo ako € k = 0 umame

i stn lf(an—l)n

= — 1.
=1 gsm gmr U,
3a k = 1, maorame
i Vgsn - Ej(Zmﬂ-l)n U3(2m+1)n +a
“~=, qssn - qmn U, g3, .

4. 35up U pa3iEKa oX cymMH na cremenu. Ox (4) n (9) moSusame

T, VL ARUX !
2 —%ﬂc—— = (1% (— ¥ (m + 7) Ck — 21 4

s=1

= Uzm+1y nr
+ 20 (D Cf S L

g™ Urp
IlocebHo, ako € & — 1 mmMame
e Um+1n
Z Vi, AU, — _‘2+"q(m”:1U_’
s=1 qsn e
- 4.
Crmmuao oa (5) m (10) moSumame
L Vo—on = ARU G .
3 Lo B LTG0 (s (1) m Che+
< - U,
1 —1)k—7r Ck—r _____Tarmn 5
. ;l ( =+ ( ) ) 213 q(_2m—1)rn Uzrn
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22U,
i V?ZS—l)n + A U_(zz_’s—l)n — q_(;” _ 1)":,"‘[[— >
=, q(2s—l)n 2n
4.

§. CyMH 0a CTENCHM HA CYKIECHBHHM “WieHOBH onx (U,). Oxo

a3 TR i+ L) G+ 3 —ty—r ¢l Uamen
qsnk o 2 2 r=1 T ) 2%

s=1 @ Usn ’

Haorame
m-s 2k k
Ui: % ks Varmn Ugs41rn
a2) A* 2, —Sf = (—DF@s+D) Chud 2 (— D7 Co —

3abenexxyBame Oexa

U(ls—f—l)rn g oy

e e U AR V. rkn,
U, ’E:O 2rien q

3a s =1 ox (12) ke mmame

2k ys 2K
U (re—in Uom Unt+1)n

x
AF g Dnk + gk + gonF Dk ) = (—1)* 3C3 +

L3
4+ Z (— 1)k—r Clzc’:-r Vormn Usnr \

r=1 gy,
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WM 3€MajKH TpenBus IeKa

Usur

(1 3) =V, -+ gnr
Unr nr

Haolfame

A (g% U 13n + U + g7 Uy 1ps) = (—1)* 3C%p gmnk 4

+ ZI (1)~ CE g Vo (Vany + ™).

Cmuuyno ox (12) moSmeBame

m rr2k rr
AF =@ e 1YW sCh% + Z (—D—r C5 Yeren Vzam—onr

re 1 q(2r—1)kn q(2m— -n U2r”

oI xane 3a § = 3 mMamMe

AK (gnk U, 3, + gonk Uden—in + Umam) = (—1)¥3C5 q@m+D e ¢

_» U, |1 £
 1Ye— k—r snr 2(2m—»1) nr .
+ Z (17 Cxi g7 @D — T,

6. CymE oa cTeneHH Ha CYKNeCcHBHE 4ienoBH ox (V,). Ox (9) maofame

m-}s V2k

= (2 5 +1) CZlc + Z C"*" V2rmn U(2:+l)nr .

qrnk q(m+s)nr U

r=m—s

OTtTyka 3a § = 1 Haofame

2% 2k
Vin—ok 4 Vvan + V(m+1)n
q(m—l)nk qmnk q(m-i—l)n/c

= 3C2k + Z C2k q—(’"+')"’ Vzrmn(Vzrn+qrn)-

r=1
On (11) ke mmame
m—-s V2k+1

k

> 2m S cker Uar+v @s+n Va@rs1)nm
k4D +

. q(2k+1)m q(2r+l) 4+m) n U(2r+l)n

u 3a s =1 cnenysa geka

2k+1 p kil 2k+1
I VARSI Col S 4 + Vimtnn =
_ Zk C;‘k__,_'l Usnar+1 Va@r+1ymn
o g2 F+D Ut 1yn

7. Crenemut og U, u V,. Oxn (4) 3a n = 1 naorame

3 k
(4 AR UF = (=1 5 Chegnb+ 2, (—1F Coc7 g =
r=1

™

TTopamgu (13) u

Vzrn - A Unr—s rn+s + qr'n 8 Vz.sa s

[

0,1,2,...,

ox (14) ke umame
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3
AR U — (— DF > C% gkn +

k
+ Zl (— DF—r Cgk—r A Usnts Ups "¢ 4+ gFn—s Vye + g*7),

281074
3
(1s) AR U = (1 (1 —Z st) Cleqme +
5 K
+ A Zl (— 1)k~r C2I;—r q”(k—r) Unr—s Unr+s 0
ITopagu npoussoigHOCcTa Ha 5, Ja 3ememe s = 0. JoOusame
2k k‘l
A1 = 3 (1~ CE T g U3,
Cnuuno, ox (9) 3a m = 1 ke mMmame
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i
V2 — 2Ck gnk — 22k gnk 4 D CETgne—n v

r=1

8. Hexon momatam penamam. Jla szeMeme Bo (15) n = 1. HobSmsame
x i '
A Zl (— 1)k—r C2k_r q—r Ur-—aUr+s =
r=

s=0,1,2,...
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Axo e s = 0, Ké mmame
k
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k  ——
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Axo e s = 0, mobmBame

k
D Ch g—TVI=12%_2C% + (p?)q— )~
1

re-

On (15) 3a n = 2 opu s = 0 umame

k
A D, (— 1y~ CE% 7 g2¢=n U2, = (Ap?)F.
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SUMS OF POWERS OF CERTAIN SEQUENCES OF NUMBERS
Summary

The object of this paper is to give some relations concerning the sums of powers
of the sequences defined by

(Un) Un =pUn—y—qUns, U, =0, U, =1,
and
(V) Vn =pVney —gVn—y3, Vo=2, Vi =p,
with A = p2—d4g+#0
1. We find
” 2k k
@ AR D = (——l)k(m + L\ ck o+ > (— 1k ck-r Urn@m+ 1)
‘L='1 gsnk \ 2 , 'L='1 grmm Usp
from where it follows also that
m U2k r -
(5) Ak _—@s—Dn_ _ (— Dkm C’2€Ic + Z (— V—r Céck—-r 4rmn .
s=1 q(2s—nk = grr@m—1> Uary

Similarly, we have

m 2641 k
A Ui, — Z (—1)k—r Clzck—.;l U@r+1) m4-0D n U2r+1) mn

s=1 gsn(2k+1) r=0 q(2r+1) mn U(“J"l'l) n

For the sequence (V.) we obtain

m V2k g 1 k
) e — (m + —) cko+ > ok YrGmann_ sne
s—1 gsnk 2 r=1 grmn Urp
and
n V2k k
(10) @—-Dn __ . ka + Z Clzck—r Udrmn .
s=1 gq@s—1 nk =1 grn2m—1) Uzrn

Similarly, for the sum of odd powers we find

m 2+l k U
== =D cky DrerEb et g,
r=0

s=—1 gsn(Zk+1) q@r+1) mn Uory 1)
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2. From (4) and (9) we obtain

2k
i Vsn + Ak Usn

1
=A £ —DO|m+ | Ch—22k—14+
s=1 gsnk (”’ 2) =

13
+ 2 & () v Urmemt )

r=1 g7 Urn

and from (5) and (10)

m 2k 2k
.l v (28=—=1)n += Aikiy (2Zs—Dn

= £ (—Dkym Chy +
=1 G2s—Dkn

k
+ 3 Ak 1eony Clpr T
r=1 gro@m—1) Uzen

In particular, if k=1 we have

Uem+4-n
m 2 2 (2m—-1)
M’_‘ — s gqmn U,
s=1 qsn
4m,
and
2Uumn
2 2 =i
5 Ves—in AU G 1, _ ) em—mnuU,,
s=1 q(2?—l)"
4m.

3. For th sum of successive members of the sequences (U»s) and (¥Vx»), resprectively,
we find

m-s 2k k
Ak o= (—1k @s + 1) Ch + D) (— Dh—rC5®
r=1

r=m—s qrrk

Urn@t+ 1) V2rmn
grn(m+2:) Upp

and
m+-s y2k L3 Urn@s+1) V2rmn
rn p— k } ! Ck_r T T T
2 e =B D Cat 2 O T it U
and
m-4s y2k+1 U@r4-1) @s+n V2@r+Dmn

k
2rn . Ck—r
o gkt ,%'o kF1 g@r+ D) stmn Ugr+Dn

4. In the case m=1, the preceding formulas become
Ak v — (1 T v,k ank
n = 5 Vs 2k

k

4~ A Z (—1)k—r C;k_r q"(k-"') Unr—s Unr+s s=0,1,2,-..,
r=1

or, if §=0

L3
Akt U = (e O e U,
=1

Similarly

r==1

— k
v (10 D0 ) Cheam— 2k g Wiy 3 O amn Vo Vons
or, if s=0

k
. 2
Vik =2 CIZCIc gnrk — 2tk grk 4 Z C ’2‘k g(k—rin Vrn )

r=
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